I 2R 2 FETHRBFIERE OHE

Ofe

B GAERR)

SR 2 FETENBOAZE (BREBERRHFEEZMR, ) 1d. 106,743,664F M T, BIFEE®D

107, 103,052 FH ¥ Lk X% ¥, #90.3% (359,388FF) DL %> T\ 5,

xR L2FETENBAZENKRI

(%1 %)

(B4 FH. %)

E % L2 EE LRTTEE ¥R B | dREEL

#t B A 30444 B R A—B A/ B
g i Bt 104, 138,458  97.6  104,468,453| 97.5 A 329,995 99.7
. B & R & 44,574,059|  41.8 45,435,824 424 A 861,765 98. |
) B A % 36,964,457  34.6 36,267,621  33.9 696, 836 101.9
Q) % A %o 7, 609, 602 7.1 g, 168,203 8.6] A 1,558,60] 83.0
2. B E & E B 50, 672,802|  47.5 50,080,973  46.8 591,829 101.2
(1) #EEEER 50,350,990  47.2 49,756,504|  46.5 594, 486 101.2
M £ 14,123,899 13.2 14,159,415 13.2 A 35,516 99.7
NHEr E 22,807,389 21.4 22,168,288  20.7 639, 101 102.9
() EHEE 13,419,702 12.6 13,428,801 12.5 A 9,099 q99.9
(2) WERRMAE 321,812 0.3 324, 469 0.3 A 2,657 99.2
3.8 88 & & 3, 060, 472 2.9 2,928,893 2.7 131,579 104.5
(1) BIEMAEE 88,710 0. | 29,230 0.0 59, 480 303.5
() & 3 % 2,971,762 2.8 2,899, 663 2.7 72,099 102.5
4, HETAIE TR 5,831, 111 5.5 6,022,749 5.6 A 191,638 96.8
5.8 & 0 0.0 0 0.0 0 -
6. B LHRAR 14 0.0 14 0.0 0 100.0
B 5] Bt 2,166,016 2.0 2,218,500 2.1 A 52,484 q97.6
. N % B 102, 190 0.1 184, 692 0.2 A 82,502 55. 3
2. # W 3 & & 2,063, 826 1.9 2,033, 808 1.9 30,018 101.5
= E S B 8B 439, 190 0.4 416,099 0.4 23,091 105.5
B & I & % # 0 0.0 0 0.0 0 -
& gt 106, 743, 664| 100.0[  107,103,052| 100.0 A 359,388 99.7
E R R IRRE 21,969, 785 - 22,349,799 - A 380,014 98.3

CE) IBEICL B8 WETR 2T ZHEBL. EXBL. H B RH3IERBE
CE2) BRI OVWTIE, WMBRENHLT LLEFE—B LW




O# & RANRKR)
LR 2 FEHIRNBORNGE (BREEFRRBRER, ) (& 104,119,964F AT, GIEEND
104,802,385 FA L kX3 ¥, #90.7% (682,421 FF) DML ->T\5, (HB2%)
B2x {R2FETENBUIXNTENRR
(BAI: A, %)
X 4 2 FE LfTEE ¥ OB B | WRTEEL
# B A HERK L B RERK Lt A—B A/B
& i# B 101,565,386 97.5| 102,195,528 97.5 A 630, 142 99. 4
. B A R B 43,683,664| 42.0 44,639,716|  42.6 A 956,052 97.9
() B A & 36, 194,255  34.8 35,531,607 33.9 662, 648 101.9
2 % A & 7,489,409] 7.2 9,108,109 8.7 A 1,618,700 82.2
2. B E & E M 49,078,506  47. | 48,702, 178|  46.5 376, 328 100. 8
(1) HEEEER 48,756,694  46.8 48,377,709|  46.2 378, 985 100. 8
TS 13,657,351 13,1 13,760,337 13.1 A 102,986 99.3
DR E 22,045,445 21,2 21,513,900  20.5 531,545 102. 5
() EREE 13,053,898|  12.5 13,103,472|  12.5 A 49,574 99.6
(2) WETR A& 321,812 0.3 324, 469 0.3 A 2,657 99.2
3. 8% 8 & & & 2,972,105 2.9 2,830,885 2.7 141,220 105. 0
(1) BFEMaeE 88,710 0.1 29,230 0.0 59, 480 303.5
(2) & 3 = 2,883,395 2.8 2,801,655 2.7 81,740 102.9
4. HETALZIE TR 5,831, 111 5.6 6,022,749 5.7 A 191,638 96.8
5. 8 & o] 0.0 o] 0.0 0 -
6. ¥R LIRER o 0.0 o 0.0 0 -
B #9 B 2,115,388 2.0 2,190,758 2.1 A 175,370 96.6
. XN & B 101,952 0.1 183,738| 0.2 A 81,786 55.5
2. B O & & 2,013,436 1.9 2,007,020 1.9 6,416 100. 3
% E S B BB 439,190 0.4 416,099 0.4 23,091 105. 5
B % 1< & B #t o] 0.0 of 0.0 0 -
& it 104, 119,964 100.0| 104,802,385 100.0 A 682,421 99.3
E B2 BRI 19, 226, 769 — 19, 293, 956 - A 67,187 99.7

GE) IBRICE 28 : TETARAITZTHER. BB HXBL. K3
GE2) BREIZOWTIZ, BEUEBED -8 T LA —K LW




IRNEEDER LN EH S L, THARFLL3, 683,664 FFA (HERKtEL2.0%) . BEE

49,078,506 F H (EEREELT. 1%) Y-

TEY., ZO2ODOFHTHIRNTELAED

89% % s, T 2BMAHAOERBETHSZ LAVAS, (B2 H-1)
#3% BESEMICHT S FEIRNBRANOES ¥ 2 OBERE
(ERREEBRFEBR )
(B4 FH. %)
FE
R4 H28 H29 H30 RI R2
a 2t 100.0 102.0 102.5 105.0 104.3
- " q9,807,713] 101,788,887 102,350, 467| 104,802, 385 104, 119,964
A T 100.0 101.6 102.5 103.8 103.2
82,380,697 83,712,523| 84,461,853 85,494,519 85,045,287
R B 3t 100.0 103.7 102.6 110.8 109.5
17,427,016] 18,076,364 17,888,614 19,307,866 19,074,677
X B EEROBMEIZ. ER28EEZI00r L-BEDH= (A B BRI E)

M- |

TEIA 72 1L 2R
58f&FA 5.5%

gE88HEH
3MfEM 2.9%

& E &R
5076M  47.5%

THEIA 72 1L 2R
588 5.6%

& E & R
4911781 47.1%

XIMEARBEIEAN, WmEITL Y.

Rfn 2 FETEARORAEEER CIRANZROH B IR EE

Z Dt
26f8FM 2.4%

(NEBL 0. 1%, #hat@EH |.9%.
SEESNB L 0.4%)

ETAY R AL
446fEFA  41.8%

Z Dfts
26fEM 2.5%

(NEBL 0. 1%, #hat@EH |.9%.
SEESNB IR 0.4%)

BT A R AL
437EA  42.0%

OB LR \VGENH B,




Oft B AR EHF D HeAS

B4k TEHNRBOMBERZERRREROHSS

B AERHL (81 A, FA. %)
g B b b1 IR

A H28 H29 H30 RI R2 (R2-R1) ®R2RD)
P 391, 080 394, 376 398, 178 400, 705 404, 161 3,456 100.9
BEEL [ B & 345,774 349, 268 353, 251 356, 341 358, 648 2,307 100. 6
HZa%E (FH) 1,379,752 1,392,356  1,410,728] 1,418, 176] 1,424,046 5,870 100. 4
Fr8ZI%8 (1) 32,853,870[ 33,531,652 34,201,325 34,113,431 34,770,209 656, 778 101.9
BAERR (B3 34,233,622| 34,924,008 35,612,053 35,531,607| 36, 194,255 662, 648 101.9
AR BBEE  TETABRERIRRA, REH  HHBURRALE)

EAERR (B : A, FA. %)
g B b b1 IR

A H28 H29 H30 RI R2 (R2-R1) ®R2R1)
w9 % & 20,047 20, 250 20, 458 20, 764 20,924 160 100.8
BEHEEH 2 A # 2 19,534 19,537 19,516 19,811 19, 941 130 100. 7
BZa%E (FH) 2,344,093 2,417,259 2,496,547 2,559, 112] 2,429,189 A 129,923 94.9
SEAREIE (FA) 6,245, 112]  6,012,106]  6,762,207]  6,548,997] 5,060,220 A 1,488,777 7.3
EAEER (&) 8,589,205]  8,429,365] 9,258,754]  4,108,109]  7,489,409] A 1,618,700 82.2

£5% BEEBEERREAOHS

(B RTBEE - TEIRBRBIKRA. RER  AMBUKRAE)

(BAI: FA. %)

g E BB YEIR R
E % H28 H29 H30 RI R2 R2-R1) ®R2/RD)
FLE EEER 45,743,441 46,488,068 45,883,028 48,377,709| 48,756, 694 378, 985 100.8
+* M 14,026,649 13,991,382| 13,670,714 13,760,337 13,657,351l A 102,986 99.3
= B| 20,823,527 21,362,162 20,938,190 21,513,900 22,045,445 531,545 102.5
18 #0 & 7| 10,893,265| I1,134,524] 11,274,124 13,103,472| 13,053,898 A 49,574 99.6
HEHR RS & 341,893 334,774 365, 770 324,469 321,812 A 2,657 99.2
EEER (3D 46,085,334 46,822,842 46,248,798 48,702, 178| 49,078,506 376,328 100.8
(A HBIRRAR)
Fo6x MRHARD (4R 1 8) REKKETIEEHECKDOES
(BfI: 8. %)
F R H28 H29 H30 RI R2 A B Am
X % (R2-R1) (R2/R1)
REgAasRE 43,142 41,348 39,760 38, 299 36, 868 A 1,431 96.3
82 8 B & 331, 146 331,897 333,307 334,399 334,927 528 100.2
| 9 b EERE 323,796 324,616 325,934 326,953 327,355 402 100. |
NRTRAENE 33,401 33,047 32,626 32,430 32,349 A 8l 99.8
—mo/NREaEE 12,039 12,105 12,263 12,564 12,786 222 101.8
B EH 419,728 418,397 417,956 417,692 416,930 A 762 99.8
GE) FRBEB. RUEREE BEGEEET. (THETASBLERABLAR L)
TEg#E,) 121k, B=% (125cc~250cc) . ZWEZ S,
=&/ a#hE, 13250cc~
E7% WINAIEIHREEOHS
(BAI: FA. %)
g E B R kR
E % H28 H29 H30 RI R2 R2-R1) R2/RD)
HEAT 2 1 2 # 6,404, 146 6, 144,097 5,953,477 6,022, 749 5,831, 111 A 191,638 96.8

(Gt 75 B BRI ER)




O # R o K &
OBUREKR D HEFS

LR 2FENVEEROTIHRBOBRE (BREERRBEEIR, ) 1. 97.5% %Y,
BIEEICANTOLRA > bR >, (-2, £8%)

%) BM-2-1 TEHNROBRRNEL (BERBERRBEER<. )

—— B —m—2E T

100
98
96
a4
a2

90
7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 RI R2

e —2-2 RERKS
100

——EER —a—2EFY
99

a8
q7

a6
7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 RI R2

(%) —2-3 WM
30

28 ——EER —m—2ETY
26
24
22
20
18
16
14
12
10

7 8 9 10 I 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 RI R2



£8% WMENBOBRE (BRBERRBEIRC) 0D (BRLSFEHL)S)
(B %)

FE| B
® 4 45

46 47 48 49 50 51 52 53 54 55 56 57 58 59 60 6l

EEE (96.7(97.1]97.3197.898.1(98.2(98.0]97.9|97.7|97.5(97.2|96.9]|96.7| 96.5|96.2|95.9] 95.7

2EF(96.7]97.0]97.2| 97.2 | 96.9 [ 96.6 | 96.6 | 96.6 | 96.6 [ 96.6 [ 96.6 | 96.5| 96.4 | 96.1 [ 96.0 | 95.8 | 95.8

FE 62 63 S 2 3 4 5 6 7 8 q 10 I 12 13 14 15

[ 7T

fEER [95.7(95.5]95.5)95.695.5 [ 95.6(95.5]95.3| 95.5 95.4(95.2 | 94.7 | 94.2| 93.5(92.7 [ 91.7] 91.2

2EF|[95.8(95.995.9) 95.8]95.7|95.2 | 94.3[93.5(93.2|93.1]92.9]92.5]92.3|92.0(92.0(91.8]491.8

FE 4o
X% 7T

EEE [91.1[91.5]92.0)92.8]92.8(92.6(92.8]93.5| 94.395.2| 95.8 | 96.4]96.9| 97.3|97.6|97.9] 97.5

2EF(92.1]92.7)93.3|93.7(93.6(93.3]193.3]|93.7|94.2(94.9(95.5]96.0|96.6|97.0 97.5( 97.7




OfB T r =

RU2EENOHBIBIREER 5 v, WENBOEBRBE ThH 5 HEA RBLIL98.0%
L ORTEEICHARTO.2RA Y bR >, BEIEEERIZ6.9% T, BIFEICLENT
0.3RA > bR T (BIXK)

H, ERBBEOBREROEBIIM-3nrEY) TH S,

F£a% L2 FENENHOB B BIBUXE

(AL : %)
X 2 BRE (2702 FE) SRAEE | R
# B REFMD | wgEEs | 31 (A) &3t (B) (A-B)
=1 A # 98.8 27.8 97.5 97.8 A 0.3
. ™ A R # 99. | 34.6 98.0 98.2 A 0.2
(1) EAZEZ q9. | 35.0 97.9 97.9 0.0
(2) FrzE q9. | 35. | 97.9 98.0 A 0.1
(3) FEAHEZER 98.6 28.6 97.8 98.7 A 0.9
4) FEAFLE q9. | 26.8 98.7 99.6 A 0.9
2. B E B 98. 4 22.6 96.9 97.2 A 0.3
(1) MEEEER 98.4 22.6 96.8 97.2 A 0.4
7) £ 98.3 22.5 96.7 97.2 A 0.5
DO=xr B 98.3 22.4 96.7 97.0 A 0.3
) BEEE 98.7 23. 1 97.3 97.6 A 0.3
(2) HETRRfG& 100. 0 - 100. 0 100. 0 0.0
3. 8 8 8 & & 99.0 32.5 97.0 96.6 0.4
4. HETA 2L 100. 0 - 100.0 100.0 0.0
5. #k = B - - - - 0.0
6. B HRAR - 0.0 0.0 0.0 0.0
B 89 G 98.8 21.7 9. | 98.7 A 0.6
PN ] % 99.9 12. 1 99.8 99.5 0.3
2. # W & 98.4 21.8 97.6 98.7 AL
& =t 98.8 27.17 97.5 97.9 A 0.4
E REERRE 96.4 25.4 87.5 86.3 1.2
(%) M-3 ERBEOBREOH#B (] - %)
7 —— FEHRS —m-EEAER = o7 (97995152580
a8 . 3
96.9 27, 6 o DAS

96 95.995.895 7 : _ '96.9

89.3
83.1g8.9

7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 RI R2




OBRZEDIRMR

TERBOBURICET 2R EIL. @2 FE132,693,562FH T, BIEEHL513.9% (434,056FH) D
B, TERBUIRANFEICH T 2E6132.6%THY . BTEEICLLRT0.4KA > bORL % > 1<,

(%1 0%)
£ 0% TENBOBURICET 2RE&R (HEHBEBR LA
(B4 T, %, A)
PR TSN ® B R
E %
HATARE ﬁgggﬁ e f%?% wEeE &t
R Lz olhER
FE A B (A+B) C D E (D+E) F
il 85, 045, 287 20, 258, 876 105, 304, 163 3,036, 827 537 3,037, 364
R2 BT 19,074,677 3,726,548 22,801,225 878,977 9,073 888, 050
[1=% 104,119,964 23,985, 424 128, 105, 388 3,915, 804 9,610 3,925,414
el 85,494,519 19,868, 157 105, 362, 676 3, 274,302 l,230 3,275,532
RI BT 19, 307, 866 3,675,892 22,983,758 1,059, 044 17,804 1,076, 848
[1=8 104,802, 385 23,544,049 128, 346,434 4,333,346 19,034 4,352,380
" el A 449,232 390,719 A 58,513 A 237,475 A 693 A 238, 168
(i_ﬁ) 1) A 233,189 50, 656 A 182,533 A 180,067 A 8,731 A 188,798
g2 A 682,421 441,375 A 241,046 A 417,542 A 9,424 A 426,966
pi=pog (R2/R1) q99.3 101.9 q99.8 q90. 4 50.5 q0. 2
R — T
g | WeREm | RERE L ERR REAGIHT 5
swmpr | BAEERC | o0 BB OB
£ G F-6) H (E/H) ) /A
il l,015,449 2,021,915 0.0 2.9 2.4
R2 BT 216,403 671,647 .4 3.9 3.5
[1=% l,231,852 2,693,562 0.4 3.1 2.6
il I, 009,043 2,266,489 0.1 3.1 2.7
RI BT 215,719 861, 129 2.1 4.7 4.5
[1=% |, 224,762 3,127,618 0.6 3.4 3.0
" il 6,406 A 244,574 A 0.1 A 0.2 A 0.3
(i_ﬁ) BT 684 A 189,482 A 0.7 A 0.8 A 1.0
2 7,090 A 434,056 A 0.2 A 0.3 A 0.4
R (R2/R1) 100.6 86. | 66.7 q1.2 86.17
R BREAR (0 — wm
X 2 Z Nty LYo L) OB E
2 R NEE ast BURNEE (BEEEMR<)
£ I (c/1) (b/ 1)
el 345 34 379 271, 847 8,013
R2 BT 105 6 11 205,416 7,919
g2 450 40 490 261,440 7,991
il 341 34 375 280,967 8,731
RI BT 103 q 12 205,212 q, 456
[1=% 444 43 487 263, 545 8, 898
N il 4 0 4 A 3,120 A 718
(i_ﬁ) i1} 2 A3 A | 204 A 1,537
2 6 A 3 3 A 2,105 A 907
R (R2/R1) 101.4 q93.0 100.6 99.2 89.8




